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‘GEOGRAPHY
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Full Marks : 70
Pass Marks : 21

Time : Three hours

The figures in the margin indicate full marks
for the questions.

All ‘Questions are Compulsory.

Q.-No. 1 & Q. No. 2 carry 1 mark each 1x8 = 8
Q. No. 3 (a to j) carries 2 marks each 1 2x10 = 20
Q. No. 4 (a to j) carries 3 marks each (any nine) 3x9 = 27
Q. No. 5 (a to d) carries § marks each (any three) 5x%3 = 15

Contd.



1. Choose the right answer from the four alternatives given below :
1x4=4

oS Al 51fA5) Rem TeE Sl Y& TeIo! difr Sfedl :

(@) Which one of the following age limits is considered for
measuring literacy rate of a country ?

G (e TSI 29 R TS Al (<BIRCH! T ST Rebal <41 2

28y eaT Sk .
SR 9=F

(ii) 6 years
L Y

(ti7) S years
@ 929

(iv)f 7 years
1 %Y

(b) Which one of the following method of cultivation is practiced
in the hill areas of North-East India ?

TR SR AR SeeTS SeTe Rl GRS F ~Al0 ST 9 7 7

(1) Commerciall cultivation g |
ifdfers g ‘

(ii) Mixed cultivation
forer Sl

(i) Shifting cultivation
ZAS 3

(iv) Cooperative farming

TR G
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(c) What is road density ?
2] TG S

(i) Road length per 1 sqg.km. |
| ifo 997 RGN #1945 (0 i

(ii) Road length per 10 sg.km.
dfS So I57 RrenifiGiy A28 (el

(i) Road length per 100 sg. km.

@S Soo 35 [RefHb 72T 0

(iv) Road léngth per 1000 sq. km.
s Sooo F9 [FENG A2 )

(d) In which of the following places is the annual rainfall very
low ? ' s

o (T d1Ze AR gfEeines ARme Sife e

(i) Tezpur

cos

(i) Lamding .
GIRIIC

(iii) Silchar
ieTes

(iv) Guwahati

2. Answer the following questions in brief : 1x4=4
TS [l epeTRE B Ued i ¢

(a) Who developed the concept of ‘human development’?

M T DR @i TeRA Bafee 2
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(b) What do you mean by transhumance ?
Ao I [ g@e
(c) .Which is the first oil refinery in the state of Assam ?

ST 21T (THEIANE (RICE] 2

(d) Give the definition of sustainable development.

2T CHIAS AR @ |

3. Answer in brief : . ' 2x10=20
53 Ted fir 2
(a) What are the two major‘componeﬂts of the earth ?

i3 201 Tomi 7o 5 e

(b) Give two geographical factors that influence the distribution of
population. :

SR ReReS &SR (ARl 75 (SR PR e 3 |

(c) Name two components of human development.

e [ 7o) Somiea a |

(d) Give two examples of tertiary activity.

OO FETHAIE 1) Tresel @ |

() What is nucleated settlement ? Give example.

(e Al T (@I 2 Tuiggel |

27T GEOG _ [ 4 ]



(fl Name two very cold regions of India.
SIS SIS d1%] Sigeay rHig I o2 |

(9) Give two main causes of male-female migration.
7[F-NRE e 7o) 325 e T

(h) Mention the impact of air pollution én human health.
RS FY @W@a@a@m eoi e 9|

(i) How are ports helpful for tradé ?

e AE ITEERT AT B2

() Give two reasons why setting up of heavy industries in Assam
is difficult. . : '
SPTS &= SOlsl e F1cH] 50 wibe 5 el e |
4. Answer the following questions in about 100 words each :
(any nine) 3x9=27
wote iRl epTRs 2fSrbia Ted 1000 w9 fSwse 3l ¢ (Ricwzan 457
(@) What does human geography study ?
R SN & SR e
~ (b) What is population explosion ? Why .is this so ?
TR [ewiRe [T T e

(¢) Explain the two approaches to planning.
SAfeEI 701 ATHB Ay 4|

(d) What are the characteristics of commercial livestock rearing ?

Qe Awsm Nerm @REEE [ e
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(¢) How do you suggest to conserve Mineral Resources ?
ST 7> TR A o & o fmie

(f) | How is water transport cheaper thén_ other modes of transport ?
ARTZR SR TARITSCT e Rzl e STl 202

(9) Name the three physiographic units of Assam.
SRR g el /S5 A il |

(h) ! Why is agricultural produétivity low i'n dry region ?
Wam@?fﬁa%wm*ﬁa@m@ﬁm |

() Explain the causes of industrial pollution.
STIIT AR RO i <5

() Give an account of the non formal sector of sc.-zrviccs.

SHERINT @GRl QeT Ja @Bl G B

S. Answer the following questions : (any three) 9%3=15
©=TS iRl erspoTes Sew ol ¢ (Reezar foiG)).
(@) Write a note on the scope of human geograPhY :

RLRE AT SR e i (o Rt W e

(b) Give a descriptioﬁ of the occupational structure of world

POpulation,
|9 SRR gl s fead fE
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(d)

7N GEOG 1, A

What are renewable cnergy sources ? Enumerate the

characteristics of renewable resources.

AT (o7 TeoEE & e a9 6@l F=2vE@ET @Rgs &

Mark the following places and rivers on the outline sketch
map of India :

SIS G T Y i were @l ZE S W@G‘m ¢
() Capital of two states :

R ST A ¢

(1) Gandhinagar

SR I51
[2)‘ Kohima
Cpifeat
(i) Two rivers :
73 i
(1) Tapti
Skl

(2) Subansiri

TR

g LSRR )




